91161
Practice Calculations A ANSWERS
1.  (M Na2CO3) = 106 gmol-1)
M = nM = 0.275 x 106 = 29.15g = 29.2 g (3sf)

2.  N = m/M = 12.2g/106 gmol-1 = 0.11509 mol

C=n/v = 0.11509/1 = 0.115 molL-1
3.  How many moles of glucose are present in 16.0 mL of 0.320 molL-1 glucose solution? 
n= cv = 0.320 x 0.016 L = 0.00512 mol
4.  a)  Calculate the empirical formula of stearic acid.

C 76.1/12= 6.34 mol      O 11.2/16mol  0.7      H 12.7/1  = 12.7 mol  divide through by 0.7
C = 6.34/0.7 = 9      O = 1     H 12.7/0.7 = 18

EF = C9H18O

b)  Molar mass of EF = 9 x 12 + 18 + 16 = 142
284/142 = 2   therefore MF = C18H36O2
5. N(sugar) = m/M, = 1200g/180gmol-1, =  6.66 mol

mol ratio = 1:6 therefore n(H2O) = 6 x 6.66 = 40 mol.

M(H2O) = nM, = 40 mol x 18 gmol-1, = 720g

6.  N(Pb) = m/M, = 3.14 g /207gmol-1 = 0.01516 mol
N(S) = m/M, = 3.61-3.14g/32gmol-1, = 0.014688 mol

Mol ratio = 1:1, therefore formula = PbS
7.  
N(K2CO3) = c x v,   = 0.674 x 0.023383 = .01576 mol

Mol ratio = 1:2, so n(HCl) = 2 x .01576 mol = 0.0315 mol

C(HCl) = n/v,   = 0.0315 mol/0.015 L = 2.10 molL-1 (3sf) (diluted)
